
16

REAR  DRIVE TRAIN - TRAIN ARRIÈRE - HINTERACHSANTRIEB - ACHTERSTE AANDRIJFLIJN

C-00180-854 
Gearbox Case Set - Swiss Made 7075 T6 - Black 
- Set

OPTION Aluminium 7075 Aluminium 7075 
Hard AnodisedHard Anodised

Fit FRONT Fit FRONT 
or REARor REAR

C-00180-226-B

C-00180-246

C-00180-231

C-00180-170

C-00180-220

C-00180-553-1

C-00180-293
C-00180-055

C-00180-220

C-00180-873

C-00180-907 (set)

C-00180-907 (set)

C-00180-156

C-3213-30-5 (x2)

C-00180-1065

C-00180-005-2 (Set)

C-00180-005-2 (Set)

C-00180-005-2 (Set)

C-00180-539

C-00180-658

C-00180-658

C-00180-955

C-3101-30-6
(x4)

C-3101-30-6 (x4)

C-3101-40-6

C-3101-40-6

C-3101-40-6C-3101-40-6

C-3101-40-6

C-3101-40-6

C-3101-40-6

C-3101-30-6

C-3101-30-6

C-3101-30-6

C-3101-30-6

C-00180-148

C-00180-148

C-00180-033

M3x3 (x2)

M3x3

M3x3

M3x3

C-3003-25-18

C-3003-25-08 (x2) C-00180-368-X

C-00180-367

C-00180-127

C-3611-3-08-16-05

C-3611-3-08-16-05

C-3611-3-08-16-05 (x2)

C-00180-122 DIN916•M4x4

C-00180-329

C-00180-114

C-00180-089

C-00180-149

C-00180-962

C-00180-1217

C-00180-531 C-00180-155-X

C-00180-871

C-00180-954

C-00180-952
C-00180-951

M5x5

M4x10

C-00180-105-2

C-00180-105-2

C-3101-30-6 (x2)

C-3101-30-6 (x2)

C-00180-186

C-00180-149 C-00180-528 (set)

C-00180-322

C-3213-30-5

C-3213-40-5 (x4)

C-00180-552

10

10

12

18

16

16

16

16

18

20

16

20

16

12

12
12

12

12

12

12
12

12

20
20

20
20

14

28

14

16

16

16

20

20 16

16
12

16

20

20
12

12

HEX BUTTON HEAD SCREWS
DIN 7380 - STEEL - 10 PCS

M3x10mm 
#C-3003-30-1010

M3x12mm 
#C-3003-30-1212

M3x16mm 
#C-3003-30-1616

M3x20mm 
#C-3003-30-2020

M3x25mm 
#C-3003-30-2525

HEX FLAT HEAD SCREWS
DIN 7991 - STEEL - 10 PCS

M3x12mm 
#C-3002-30-1212

M4x16mm 
#C-3002-40-1616

M4x20mm 
#C-3002-40-2020

https://corally.com/en/product/C-00180-854/team-corally-gearbox-case-set-swiss-made-7075-t6-black-set
https://corally.com/en/product/C-00180-226-B/team-corally-wing-composite-black-1-pc
https://corally.com/en/product/C-00180-246/team-corally-anti-roll-bar-rear-26mm-1-pc
https://corally.com/en/product/C-00180-231/team-corally-collar-for-anti-roll-bar-aluminum-2-pcs
https://corally.com/en/product/C-00180-170/team-corally-ball-68mm-steel-2-pcs
https://corally.com/en/product/C-00180-220/team-corally-ball-end-58mm-for-anti-roll-bar-steel-4-pcs
https://corally.com/en/product/C-00180-553-1/team-corally-hd-camber-links-truggy-mt-rear-135mm-composite-2-pcs
https://corally.com/en/product/C-00180-293/team-corally-ball-68mm-steel-4-pcs
https://corally.com/en/product/C-00180-055/team-corally-suspension-arm-shim-composite-1-set
https://corally.com/en/product/C-00180-220/team-corally-ball-end-58mm-for-anti-roll-bar-steel-4-pcs
https://corally.com/en/product/C-00180-873/team-corally-suspension-arm-mount-hd-re-re-8mm-aluminum-black-1-pc
https://corally.com/en/product/C-00180-907/team-corally-arm-holder-inserts-composite-set-8-pcs
https://corally.com/en/product/C-00180-907/team-corally-arm-holder-inserts-composite-set-8-pcs
https://corally.com/en/product/C-00180-156/team-corally-bevel-pinion-13t-steel-1-pc
https://corally.com/en/product/C-3213-30-5/team-corally-aluminium-washer-for-m3-flat-head-screws-od8mm-red-10-pcs
https://corally.com/en/product/C-00180-1065/team-corally-hd-wing-washer-large-composite-1-pc
https://corally.com/en/product/C-00180-005-2/team-corally-wing-mount-v2-adjustable-composite-1-set
https://corally.com/en/product/C-00180-005-2/team-corally-wing-mount-v2-adjustable-composite-1-set
https://corally.com/en/product/C-00180-005-2/team-corally-wing-mount-v2-adjustable-composite-1-set
https://corally.com/en/product/C-00180-539/team-corally-wing-mount-connecting-brace-composite-1-pc
https://corally.com/en/product/C-00180-658/team-corally-shock-cap-protector-composite-2-pcs
https://corally.com/en/product/C-00180-658/team-corally-shock-cap-protector-composite-2-pcs
https://corally.com/en/product/C-00180-955/team-corally-shock-tower-mt-g2-rear-5mm-aluminum-black-1-pc
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-00180-148/team-corally-shock-screw-steel-4-pcs
https://corally.com/en/product/C-00180-148/team-corally-shock-screw-steel-4-pcs
https://corally.com/en/product/C-00180-033/team-corally-gearbox-case-set-composite-1-set
https://corally.com/en/product/C-3004-30-03/team-corally-steel-set-screws-m3-x-3mm-hex-10-pcs
https://corally.com/en/product/C-3004-30-03/team-corally-steel-set-screws-m3-x-3mm-hex-10-pcs
https://corally.com/en/product/C-3004-30-03/team-corally-steel-set-screws-m3-x-3mm-hex-10-pcs
https://corally.com/en/product/C-3004-30-03/team-corally-steel-set-screws-m3-x-3mm-hex-10-pcs
https://corally.com/en/product/C-3003-25-08/team-corally-steel-screws-m25-x-8mm-hex-button-head-10-pcs
https://corally.com/en/product/C-00180-368-X/team-corally-pro-drive-axle-long-rear-swiss-spring-steel-2-pcs
https://corally.com/en/product/C-00180-367/team-corally-dogbones-1325mm-steel-2-pcs
https://corally.com/en/product/C-00180-127/team-corally-hinge-pin-outer-steel-2-pcs
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-00180-122/team-corally-pin-25x17mm-steel-10-pcs
https://corally.com/en/product/C-3004-40-04/team-corally-steel-set-screws-m4-x-4mm-hex-10-pcs
https://corally.com/en/product/C-00180-329/team-corally-wheel-hex-adapter-wide-rtr-aluminum-2-pcs
https://corally.com/en/product/C-00180-114/team-corally-composite-rear-upright-wide-1-pc
https://corally.com/en/product/C-00180-089/team-corally-anti-roll-bar-ball-cups-composite-4-pcs
https://corally.com/en/product/C-00180-149/team-corally-ball-58mm-steel-4-pcs
https://corally.com/en/product/C-00180-962/team-corally-gear-box-cover-composite-1-set
https://corally.com/en/product/C-00180-322/team-corally-suspension-arm-pivot-pin-rtr-lower-inner-frontrear-steel-68mm-2-pcs
https://corally.com/en/product/C-00180-531/team-corally-hda-suspension-arm-insert-inner-aluminum-red-2-pcs
https://corally.com/en/product/C-00180-155-X/team-corally-pro-pinion-outdrive-cup-swiss-spring-steel-2-pcs
https://corally.com/en/product/C-00180-871/team-corally-suspension-arm-mount-hd-re-fr-8mm-aluminum-black-1-pc
https://corally.com/en/product/C-00180-954/team-corally-drive-shaft-center-rear-1415mm-steel-1-pc
https://corally.com/en/product/C-00180-952/team-corally-chassis-brace-mt-g2-rear-composite-1-pc
https://corally.com/en/product/C-00180-951/team-corally-chassis-brace-tube-cover-front-rear-1-set
https://corally.com/en/product/C-3004-50-05/team-corally-steel-set-screws-m5-x-5mm-hex-10-pcs
https://corally.com/en/product/C-00180-105-2/team-corally-shock-tower-brace-body-mount-v2-rear-composite-2-pcs
https://corally.com/en/product/C-00180-105-2/team-corally-shock-tower-brace-body-mount-v2-rear-composite-2-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-00180-186/team-corally-chassis-brace-link-steel-1-pc
https://corally.com/en/product/C-00180-149/team-corally-ball-58mm-steel-4-pcs
https://corally.com/en/product/C-00180-528/team-corally-suspension-arm-hda-4-lower-rear-composite-1-pc
https://corally.com/en/product/C-00180-322/team-corally-suspension-arm-pivot-pin-rtr-lower-inner-frontrear-steel-68mm-2-pcs
https://corally.com/en/product/C-3213-30-5/team-corally-aluminium-washer-for-m3-flat-head-screws-od8mm-red-10-pcs
https://corally.com/en/product/C-3213-40-5/team-corally-aluminium-washer-for-m4-flat-head-screws-od10mm-red-10-pcs
https://corally.com/en/product/C-00180-552/team-corally-rear-bumper-w-skid-plate-composite-1-pc
https://corally.com/en/product/C-3003-30-10/team-corally-steel-screws-m3-x-10mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-12/team-corally-steel-screws-m3-x-12mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-16/team-corally-steel-screws-m3-x-16mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-20/team-corally-steel-screws-m3-x-20mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-25/team-corally-hex-button-head-screw-m3x25-steel-10-pcs
https://corally.com/en/product/C-3002-30-12/team-corally-steel-screws-m3-x-12mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-16/team-corally-steel-screws-m4-x-16mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-20/team-corally-steel-screws-m4-x-20mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-00180-1217/team-corally-suspension-arm-pivot-pin-rtr-lower-inner-rear-steel-70mm-2-pcs


17

CHASSIS CENTRE

C-00180-372

C-00180-171

C-00180-129

C-00180-013 (set)

C-00180-013 (set)

C-00180-716 (set)

C-00180-716 (set)

C-00180-834

C-00180-305 (x2)

C-00180-605

C-54055

C-54011

C-00180-615 (set)

C-00180-615 (set)

C-00180-615 (set)

C-3104-40 (x2)

C-00180-023
C-00180-640

C-00180-562

C-00180-945

C-00180-944

C-00180-660

C-00180-945

C-00180-018

C-00180-177 C-3001-40-14

C-3201-40
C-3001-40-10

C-3001-40-10

C-3001-40-14C-00180-722

C-52022

C-00180-959

C-00180-959

C-00180-953 (set)

C-00180-953 (set)

C-72713

M4x4

C-00180-149

C-00180-044 (x2)

C-3101-40-6

C-3101-40-6

FR
ON

T REAR

10
10 10

1035
3510

10

1018

10
10

8

4

8

10

10

6
6

8

4

4

4

HEX BUTTON HEAD SCREWS
DIN 7380 - STEEL - 10 PCS

M3x10mm 
#C-3003-30-1010

M3x4mm 
#C-3003-30-044

M3x6mm 
#C-3003-30-066

M3x8mm 
#C-3003-30-088

M3x12mm 
#C-3003-30-1212

M3x16mm 
#C-3003-30-1616

M3x20mm 
#C-3003-30-2020

M3x25mm 
#C-3003-30-2525

M3x35mm 
#C-3003-30-3535

M4x25mm 
#C-3003-40-2525

25

25

10

10

10

10
14

14

18

8

6

8

8

8

8

8

8

8

18
8

14

14

HEX FLAT HEAD SCREWS
DIN 7991 - STEEL - 10 PCS

M3x12mm 
#C-3002-30-1212

M3x10mm 
#C-3002-30-1010

M3x8mm 
#C-3002-30-088

M3x6mm 
#C-3002-30-066

M3x14mm 
#C-3002-30-1414

M3x18mm 
#C-3002-30-1818

M4x16mm 
#C-3002-40-1616

M4x20mm 
#C-3002-40-2020

M4x12mm DIN7991 
#C-3002-40-12

M4x10mm DIN7991 
#C-3002-40-10

M4x14mm DIN7991 
#C-3002-40-14

M4x16mm DIN7991 
#C-3002-40-16

M4x20mm DIN7991 
#C-3002-40-20

M3x12mm DIN7991 
#C-3002-30-12

M3x8mm DIN7991 
#C-3002-30-08

CHASSIS - SCREWS DESCRIPTION - VISSERIE CHÂSSIS - SCHRAUBEN - SCHROEVEN

https://corally.com/en/product/C-00180-372/team-corally-servo-arm-steering-alu-1-pc
https://corally.com/en/product/C-00180-171/team-corally-threaded-ball-6mm-steel-2-pcs
https://corally.com/en/product/C-00180-129/team-corally-turnbuckle-m3-35mm-steel-2-pcs
https://corally.com/en/product/C-00180-013/team-corally-servo-mount-receiver-box-composite-1-set
https://corally.com/en/product/C-00180-013/team-corally-servo-mount-receiver-box-composite-1-set
https://corally.com/en/product/C-00180-716/team-corally-center-roll-cage-mount-chassis-tube-version-composite-1-set
https://corally.com/en/product/C-00180-716/team-corally-center-roll-cage-mount-chassis-tube-version-composite-1-set
https://corally.com/en/product/C-00180-834/team-corally-center-roll-cage-foam-thickness-25mm
https://corally.com/en/product/C-00180-305/team-corally-center-roll-cage-pin-steel-2-pcs
https://corally.com/en/product/C-00180-605/team-corally-motor-bulkhead-v2-aluminium-1-pc
https://corally.com/en/product/C-54055/team-corally-electric-motor-kuron-825-4-pole-2050-kv-brushless-sensorless-18
https://corally.com/en/product/C-54011/team-corally-speed-controller-torox-185-brushless-3-6s
https://corally.com/en/product/C-00180-615/team-corally-battery-esc-tray-v2-large-composite-1-pc
https://corally.com/en/product/C-00180-615/team-corally-battery-esc-tray-v2-large-composite-1-pc
https://corally.com/en/product/C-00180-615/team-corally-battery-esc-tray-v2-large-composite-1-pc
https://corally.com/en/product/C-3104-40/team-corally-low-profile-nut-m4-10-pcs
https://corally.com/en/product/C-00180-023/team-corally-motor-mount-center-diff-insert-composite-1-pc
https://corally.com/en/product/C-00180-640/team-corally-center-diff-plate-spur-gear-cover-for-chassis-tube-composite-1-pc
https://corally.com/en/product/C-00180-562/team-corally-center-diff-spacer-4mm-composite-1-pc
https://corally.com/en/product/C-00180-945/team-corally-side-guards-mt-g2-left-right-composite-1-set
https://corally.com/en/product/C-00180-944/team-corally-chassis-long-lwb-mt-aluminum-1-pc
https://corally.com/en/product/C-00180-660/team-corally-switch-holder-torox-135-185-switch-tube-12mm-1-set
https://corally.com/en/product/C-00180-945/team-corally-side-guards-mt-g2-left-right-composite-1-set
https://corally.com/en/product/C-00180-018/team-corally-center-diff-bulkhead-composite-1-set
https://corally.com/en/product/C-00180-177/team-corally-motor-mount-aluminum-1-pc
https://corally.com/en/product/C-3001-40-14/team-corally-steel-screws-m4-x-14mm-hex-socket-head-10-pcs
https://corally.com/en/product/C-3201-40/team-corally-washer-m4-galvanized-steel-10-pcs
https://corally.com/en/product/C-3001-40-10/team-corally-steel-screws-m4-x-10mm-hex-socket-head-10-pcs
https://corally.com/en/product/C-3001-40-10/team-corally-steel-screws-m4-x-10mm-hex-socket-head-10-pcs
https://corally.com/en/product/C-3001-40-14/team-corally-steel-screws-m4-x-14mm-hex-socket-head-10-pcs
https://corally.com/en/product/C-00180-722/team-corally-pinion-cover-composite-1-pc
https://corally.com/en/product/C-52022/varioprop-digital-servo-crhv-7225-mg-high-voltage-core-motor-metal-gear-25-kg-torque
https://corally.com/en/product/C-00180-959/team-corally-chassis-tube-ends-mt-g2-composite-2-pcs
https://corally.com/en/product/C-00180-959/team-corally-chassis-tube-ends-mt-g2-composite-2-pcs
https://corally.com/en/product/C-00180-953/team-corally-chassis-tube-mt-g2-front-rear-aluminum-black-1-set
https://corally.com/en/product/C-00180-953/team-corally-chassis-tube-mt-g2-front-rear-aluminum-black-1-set
https://corally.com/en/product/C-72713/team-corally-m10-pinion-short-hardened-steel-13-teeth-shaft-dia-5mm
https://corally.com/en/product/C-3004-40-04/team-corally-steel-set-screws-m4-x-4mm-hex-10-pcs
https://corally.com/en/product/C-00180-149/team-corally-ball-58mm-steel-4-pcs
https://corally.com/en/product/C-00180-044/team-corally-ball-joint-6mm-composite-2-pcs
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-3003-30-10/team-corally-steel-screws-m3-x-10mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-06/team-corally-steel-screws-m3-x-6mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-08/team-corally-steel-screws-m3-x-8mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-12/team-corally-steel-screws-m3-x-12mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-16/team-corally-steel-screws-m3-x-16mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-20/team-corally-steel-screws-m3-x-20mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-25/team-corally-hex-button-head-screw-m3x25-steel-10-pcs
https://corally.com/en/product/C-3003-30-35/team-corally-hex-button-head-screw-m3x35-steel-10-pcs
https://corally.com/en/product/C-3003-40-25/team-corally-steel-screws-m4-x-25mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3002-30-12/team-corally-steel-screws-m3-x-12mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-30-10/team-corally-steel-screws-m3-x-10mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-30-08/team-corally-steel-screws-m3-x-8mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-30-06/team-corally-steel-screws-m3-x-6mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-16/team-corally-steel-screws-m4-x-16mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-20/team-corally-steel-screws-m4-x-20mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-12/team-corally-steel-screws-m4-x-12mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-10/team-corally-steel-screws-m4-x-10mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-14/team-corally-steel-screws-m4-x-14mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-16/team-corally-steel-screws-m4-x-16mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-20/team-corally-steel-screws-m4-x-20mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-30-12/team-corally-steel-screws-m3-x-12mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-30-08/team-corally-steel-screws-m3-x-8mm-hex-flat-head-10-pcs


14

CENTRE DIFFERENTIAL - DIFFÉRENTIEL CENTRAL - ZENTRALDIFFERENTIAL - CentreDIFFERENTIEEL

C-00180-153-X

C-00180-153-X

C-00180-178

C-00180-182

C-00180-182

C-00180-205

C-00180-205

C-00180-179 (set)

C-00180-183

C-00180-184

C-00180-098

C-3611-3-08-16-05

C-3611-3-08-16-05

C-00180-154-X

C-3611-3-08-16-05 C-00180-205

C-00180-607

C-00180-183-1

C-00180-183-1

C-00180-182

C-00180-686

C-00180-684

C-00180-154-X

C-00180-182

C-00180-205

C-00180-686

C-3002-30-10 (x4)

C-3002-30-10 (x4)

C-3611-3-08-16-05

C-00180-179 (set)

C-3002-30-12 (4pcs)

FRONT & REAR DIFFERENTIAL - DIFFÉRENTIEL AVANT ET ARRIÈRE - DIFFERENTIAL VORNE UND HINTEN - VOOR & ACHTER DIFFERENTIEEL

C-00180-410 
Xtreme Diff Case - 30mm - FR / RE - 1 pc

Aluminium 7075 Hard Anodised Aluminium 7075 Hard Anodised 
Made in ItalyMade in Italy

For FRONT For FRONT 
or REARor REAR

OPTION

https://corally.com/en/product/C-00180-153-X/team-corally-pro-diff-outdrive-cup-swiss-spring-steel-2-pcs
https://corally.com/en/product/C-00180-153-X/team-corally-pro-diff-outdrive-cup-swiss-spring-steel-2-pcs
https://corally.com/en/product/C-00180-178/team-corally-diff-bevel-gear-43t-steel-1-pc
https://corally.com/en/product/C-00180-182/team-corally-o-ring-silicone-5x8mm-5-pcs
https://corally.com/en/product/C-00180-182/team-corally-o-ring-silicone-5x8mm-5-pcs
https://corally.com/en/product/C-00180-205/team-corally-diff-outdrive-pin-25x118mm-steel-4-pcs
https://corally.com/en/product/C-00180-179/team-corally-planetary-diff-gears-steel-1-set
https://corally.com/en/product/C-00180-183/team-corally-diff-gasket-for-front-and-rear-diff-30mm-4-pcs
https://corally.com/en/product/C-00180-184/team-corally-gear-diff-pin-35-x-268mm-steel-for-c-00180-090-c-00180-098-c-00180-410-c-00180-411-2-pcs
https://corally.com/en/product/C-00180-098/team-corally-diff-case-fr-re-composite-1-pc
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-00180-154-X/team-corally-pro-center-diff-outdrive-cup-swiss-spring-steel-2-pcs
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-00180-205/team-corally-diff-outdrive-pin-25x118mm-steel-4-pcs
https://corally.com/en/product/C-00180-607/team-corally-spur-gear-52t-cnc-machined-steel-1-pc
https://corally.com/en/product/C-00180-183-1/team-corally-diff-gasket-for-center-diff-35mm-4-pcs
https://corally.com/en/product/C-00180-183-1/team-corally-diff-gasket-for-center-diff-35mm-4-pcs
https://corally.com/en/product/C-00180-182/team-corally-o-ring-silicone-5x8mm-5-pcs
https://corally.com/en/product/C-00180-686/team-corally-differential-case-center-35mm-aluminium-center-steel-flange-1-pc
https://corally.com/en/product/C-00180-684/team-corally-gear-diff-pin-35-x-298mm-steel-for-c-00180-686-2-pcs
https://corally.com/en/product/C-00180-154-X/team-corally-pro-center-diff-outdrive-cup-swiss-spring-steel-2-pcs
https://corally.com/en/product/C-00180-182/team-corally-o-ring-silicone-5x8mm-5-pcs
https://corally.com/en/product/C-00180-205/team-corally-diff-outdrive-pin-25x118mm-steel-4-pcs
https://corally.com/en/product/C-00180-686/team-corally-differential-case-center-35mm-aluminium-center-steel-flange-1-pc
https://corally.com/en/product/C-3002-30-10/team-corally-steel-screws-m3-x-10mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-30-10/team-corally-steel-screws-m3-x-10mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-00180-179/team-corally-planetary-diff-gears-steel-1-set
https://corally.com/en/product/C-3002-30-12/team-corally-steel-screws-m3-x-12mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-00180-410/team-corally-xtreme-diff-case-30mm-aluminium-7075-hard-anodised-black-front-rear-made-in-italy-1-pc


15

FRONT DRIVE TRAIN - TRAIN AVANT - FRONTANTRIEB - VOORSTE AANDRIJFLIJN

C-00180-854 
Gearbox Case Set - Swiss Made 7075 T6 - Black 
- Set

OPTION Aluminium 7075 Aluminium 7075 
Hard AnodisedHard Anodised

Fit FRONT Fit FRONT 
or REARor REAR

Front Shock-tower - Screws description

C-3004-40-04

C-00180-108-1

C-00180-341

C-00180-554-1

C-00180-532

C-00180-531

C-00180-108-1 (Set)

C-3611-3-08-16-05 (2x)

C-00180-329
C-00180-122

C-00180-957

C-00180-117

C-00180-123 (2x)

C-00180-207
C-00180-150

C-00180-551

C-00180-149

C-00180-109

C-00180-089

C-3213-30-5

C-3213-40-5 (x4)

C-00180-055 (2x)
M4x10

M4x10

M5x5
C-00180-155-X

C-3101-30-6 (4x)

C-3101-30-6 (2x)

C-00180-891 (x2)

C-3101-30-6 (x2)

C-00180-149

C-00180-149

C-00180-658

C-00180-148 (x2)

C-00180-950

C-3101-40-6 (x2)

C-00180-106

C-00180-962

C-00180-874

C-00180-033 (set)

C-00180-033 (set)

C-00180-033 (set)

C-3001-25-18

C-3003-25-08 (2x)
C-3004-30-05 (2x)

C-00180-231

C-00180-220

C-3004-30-03

C-3004-30-03

C-00180-197

C-00180-220

C-3004-30-03

C-3611-3-08-16-05

C-00180-156

C-3611-3-08-16-05
C-00180-322

C-00180-530
C-00180-1066

C-00180-532

C-00180-527

C-00180-963

C-00180-872

C-00180-951

C-3004-30-05 (x2)

16

16
20

20

16

16

16

12

12

12

12

14

14

14

14

8

12
12 10

10

10

16

23

23

16

10
10

10

10

8

HEX BUTTON HEAD SCREWS
DIN 7380 - STEEL - 10 PCS

M3x10mm 
#C-3003-30-1010

M3x8mm 
#C-3003-30-088

M3x12mm 
#C-3003-30-1212

M3x14mm 
#C-3003-30-1414

M3x16mm 
#C-3003-30-1616

M3x20mm 
#C-3003-30-2020

M3x23mm 
#C-3003-30-2323

HEX FLAT HEAD SCREWS
DIN 7991 - STEEL - 10 PCS

M3x12mm 
#C-3002-30-1212

M3x10mm 
#C-3002-30-1010

M3x8mm 
#C-3002-30-088

M4x16mm 
#C-3002-40-1616

M4x20mm 
#C-3002-40-2020

https://corally.com/en/product/C-00180-854/team-corally-gearbox-case-set-swiss-made-7075-t6-black-set
https://corally.com/en/product/C-3004-40-04/team-corally-steel-set-screws-m4-x-4mm-hex-10-pcs
https://corally.com/en/product/C-00180-108-1/team-corally-hd-steering-block-1pc-wide-pillow-ball-cup-2pcs-front-composite-1-set
https://corally.com/en/product/C-00180-341/team-corally-cvd-drive-shaft-long-front-wide-blocks-1-pc
https://corally.com/en/product/C-00180-554-1/team-corally-hd-steering-links-truggy-mt-118mm-composite-2-pcs
https://corally.com/en/product/C-00180-532/team-corally-hda-suspension-arm-insert-outer-spacer-15mm-aluminum-red-2-pcs
https://corally.com/en/product/C-00180-531/team-corally-hda-suspension-arm-insert-inner-aluminum-red-2-pcs
https://corally.com/en/product/C-00180-108-1/team-corally-hd-steering-block-1pc-wide-pillow-ball-cup-2pcs-front-composite-1-set
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-00180-329/team-corally-wheel-hex-adapter-wide-rtr-aluminum-2-pcs
https://corally.com/en/product/C-00180-122/team-corally-pin-25x17mm-steel-10-pcs
https://corally.com/en/product/C-00180-957/team-corally-chassis-brace-mt-g2-front-composite-1-pc
https://corally.com/en/product/C-00180-117/team-corally-pivot-ball-adjusting-nut-aluminum-4-pcs
https://corally.com/en/product/C-00180-123/team-corally-pivot-ball-steel-4-pcs
https://corally.com/en/product/C-00180-207/team-corally-steering-block-arms-aluminum-2-pcs
https://corally.com/en/product/C-00180-150/team-corally-ball-shouldered-68mm-steel-4-pcs
https://corally.com/en/product/C-00180-551/team-corally-front-bumper-w-skid-plate-composite-1-pc
https://corally.com/en/product/C-00180-149/team-corally-ball-58mm-steel-4-pcs
https://corally.com/en/product/C-00180-109/team-corally-caster-clips-set-1-to-45mm-1-set
https://corally.com/en/product/C-00180-089/team-corally-anti-roll-bar-ball-cups-composite-4-pcs
https://corally.com/en/product/C-3213-30-5/team-corally-aluminium-washer-for-m3-flat-head-screws-od8mm-red-10-pcs
https://corally.com/en/product/C-3213-40-5/team-corally-aluminium-washer-for-m4-flat-head-screws-od10mm-red-10-pcs
https://corally.com/en/product/C-00180-055/team-corally-suspension-arm-shim-composite-1-set
https://corally.com/en/product/C-3004-40-10/team-corally-steel-set-screws-m4-x-10mm-hex-10-pcs
https://corally.com/en/product/C-3004-40-10/team-corally-steel-set-screws-m4-x-10mm-hex-10-pcs
https://corally.com/en/product/C-3004-50-05/team-corally-steel-set-screws-m5-x-5mm-hex-10-pcs
https://corally.com/en/product/C-00180-155-X/team-corally-pro-pinion-outdrive-cup-swiss-spring-steel-2-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-00180-891/team-corally-hinge-pin-front-upper-arm-steel-2-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-00180-149/team-corally-ball-58mm-steel-4-pcs
https://corally.com/en/product/C-00180-149/team-corally-ball-58mm-steel-4-pcs
https://corally.com/en/product/C-00180-658/team-corally-shock-cap-protector-composite-2-pcs
https://corally.com/en/product/C-00180-148/team-corally-shock-screw-steel-4-pcs
https://corally.com/en/product/C-00180-950/team-corally-shock-tower-mt-g2-5mm-aluminum-front-1-pc
https://corally.com/en/product/C-3101-40-6/team-corally-steel-nylstop-nut-m4-black-coated-10-pcs
https://corally.com/en/product/C-00180-106/team-corally-body-post-front-composite-2-pcs
https://corally.com/en/product/C-00180-962/team-corally-gear-box-cover-composite-1-set
https://corally.com/en/product/C-00180-874/team-corally-suspension-arm-mount-hd-fr-fr-8mm-aluminum-black-1-pc
https://corally.com/en/product/C-00180-033/team-corally-gearbox-case-set-composite-1-set
https://corally.com/en/product/C-00180-033/team-corally-gearbox-case-set-composite-1-set
https://corally.com/en/product/C-00180-033/team-corally-gearbox-case-set-composite-1-set
https://corally.com/en/product/C-3003-25-08/team-corally-steel-screws-m25-x-8mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3004-30-05/team-corally-steel-set-screws-m3-x-5mm-hex-10-pcs
https://corally.com/en/product/C-00180-231/team-corally-collar-for-anti-roll-bar-aluminum-2-pcs
https://corally.com/en/product/C-00180-220/team-corally-ball-end-58mm-for-anti-roll-bar-steel-4-pcs
https://corally.com/en/product/C-3004-30-03/team-corally-steel-set-screws-m3-x-3mm-hex-10-pcs
https://corally.com/en/product/C-3004-30-03/team-corally-steel-set-screws-m3-x-3mm-hex-10-pcs
https://corally.com/en/product/C-00180-197/team-corally-anti-roll-bar-24mm-front-1-pc
https://corally.com/en/product/C-00180-220/team-corally-ball-end-58mm-for-anti-roll-bar-steel-4-pcs
https://corally.com/en/product/C-3004-30-03/team-corally-steel-set-screws-m3-x-3mm-hex-10-pcs
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-00180-156/team-corally-bevel-pinion-13t-steel-1-pc
https://corally.com/en/product/C-3611-3-08-16-05/team-corally-ball-bearing-abec-3-8x16x5-2-pcs
https://corally.com/en/product/C-00180-322/team-corally-suspension-arm-pivot-pin-rtr-lower-inner-frontrear-steel-68mm-2-pcs
https://corally.com/en/product/C-00180-530/team-corally-suspension-arm-hda-4-upper-front-composite-1-pc
https://corally.com/en/product/C-00180-1066/team-corally-mud-guards-left-right-composite-1-pair
https://corally.com/en/product/C-00180-532/team-corally-hda-suspension-arm-insert-outer-spacer-15mm-aluminum-red-2-pcs
https://corally.com/en/product/C-00180-527/team-corally-suspension-arm-hda-4-lower-front-composite-1-pc
https://corally.com/en/product/C-00180-963/team-corally-drive-shaft-center-front-1155mm-steel-1-pc
https://corally.com/en/product/C-00180-872/team-corally-suspension-arm-mount-hd-fr-re-8mm-aluminum-black-1-pc
https://corally.com/en/product/C-00180-951/team-corally-chassis-brace-tube-cover-front-rear-1-set
https://corally.com/en/product/C-3004-30-05/team-corally-steel-set-screws-m3-x-5mm-hex-10-pcs
https://corally.com/en/product/C-3003-30-10/team-corally-steel-screws-m3-x-10mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-08/team-corally-steel-screws-m3-x-8mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-12/team-corally-steel-screws-m3-x-12mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-14/team-corally-hex-button-head-screw-m3x14-steel-10-pcs
https://corally.com/en/product/C-3003-30-16/team-corally-steel-screws-m3-x-16mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-20/team-corally-steel-screws-m3-x-20mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3003-30-23/team-corally-hex-button-head-screw-m3x23-steel-10-pcs
https://corally.com/en/product/C-3002-30-12/team-corally-steel-screws-m3-x-12mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-30-10/team-corally-steel-screws-m3-x-10mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-30-08/team-corally-steel-screws-m3-x-8mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-16/team-corally-steel-screws-m4-x-16mm-hex-flat-head-10-pcs
https://corally.com/en/product/C-3002-40-20/team-corally-steel-screws-m4-x-20mm-hex-flat-head-10-pcs


18

C-00180-145 (set)

C-00180-145 (set)

C-00180-147 (x2)

C-00180-150 (x2)

C-00180-964

C-00180-206

C-00180-831

C-00180-216

C-00180-036 (set)

C-00180-036 (set)

C-3003-30-10 (x2)

C-3002-30-18 (x2)

C-3101-30-6 (x2)

C-3101-30-6

C-3611-3-06-10-03 (x2)

C-3611-3-06-10-03

C-3611-3-06-10-03

C-3611-3-06-10-03 (x2)

C-00180-191

C-00180-266 
Servo Saver Steering Arm - 7075 T6 - Hard  
Anodised - Black - 1 pc

OPTION

SERVO-SAVER - SAUVE-SERVO - SERVO-SAVER - SERVO-SAVER

https://corally.com/en/product/C-00180-145/team-corally-servo-saver-shaft-w-nut-aluminum-1-pc
https://corally.com/en/product/C-00180-145/team-corally-servo-saver-shaft-w-nut-aluminum-1-pc
https://corally.com/en/product/C-00180-147/team-corally-servo-saver-post-steel-2-pcs
https://corally.com/en/product/C-00180-150/team-corally-ball-shouldered-68mm-steel-4-pcs
https://corally.com/en/product/C-00180-964/team-corally-steering-rack-mt23-7075-t6-3mm-black-made-in-italy-1-pc
https://corally.com/en/product/C-00180-206/team-corally-steering-rack-bushing-steel-2-pcs
https://corally.com/en/product/C-00180-831/team-corally-steering-rack-dual-stiffener-swiss-made-7075-t6-2mm-hard-anodised-black-made-in-italy-1-pc
https://corally.com/en/product/C-00180-216/team-corally-servo-saver-spring-1-pc
https://corally.com/en/product/C-00180-036/team-corally-steering-bellcrank-parts-a-b-c-composite-1-set
https://corally.com/en/product/C-00180-036/team-corally-steering-bellcrank-parts-a-b-c-composite-1-set
https://corally.com/en/product/C-3003-30-10/team-corally-steel-screws-m3-x-10mm-hex-button-head-10-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-3101-30-6/team-corally-steel-nylstop-nut-m3-black-coated-10-pcs
https://corally.com/en/product/C-3611-3-06-10-03/team-corally-ball-bearing-abec-3-6x10x3-2-pcs
https://corally.com/en/product/C-3611-3-06-10-03/team-corally-ball-bearing-abec-3-6x10x3-2-pcs
https://corally.com/en/product/C-3611-3-06-10-03/team-corally-ball-bearing-abec-3-6x10x3-2-pcs
https://corally.com/en/product/C-3611-3-06-10-03/team-corally-ball-bearing-abec-3-6x10x3-2-pcs
https://corally.com/en/product/C-00180-191/team-corally-o-ring-silicone-9x12mm-5-pcs
https://corally.com/en/product/C-00180-266/team-corally-servo-saver-steering-arm-7075-t6-hard-anodised-black-1-pc


11

OPTION

APPLY 
SILICONE OIL

C-00180-133

C-00180-189

C-00180-768

C-00180-190

C-00180-192

C-00180-136

C-00180-138

C-00180-029

C-00180-770

C-00180-149

C-00180-078

C-00180-188

C-00180-191

C-00180-166
(Front - Avant - Vorne - Voor)

C-00180-137
(Front - Avant - Vorne - Voor)

- Appliquez de l’huile silicone
- Silikonöl auftragen 
- Breng siliconenolie aan

C-00180-291 (Front - Avant - Vorne - Voor) - HARD

C-00180-164
(Rear - Arrière - Ninten - Achter)

C-00180-134
(Rear - Arrière - Ninten - Achter)

C-00180-288 (Rear - Arrière - Ninten - Achter) - HARD

C-31001-25

• Do not overtighten the Shock Cap to prevent deformation of the silicone Shock Bladder.
• Ne serrez pas trop le capuchon de l’amortisseur pour éviter la déformation de la membrane en silicone.
• Ziehen Sie die Dämpferabdeckung nicht zu fest an, um eine Verformung der Silikonmembran zu vermeiden.
• Draai de schokkap niet te strak aan om vervorming van het siliconenmembraan te voorkomen.

SHOCK ABSORBER - AMORTISSEUR - STOSSDÄMPFER - SCHOKDEMPER

C-00180-768 Shock Piston (8pcs)
Shock Piston - 6 Holes 1.4
Shock Piston - �8 Holes 1.2 (Factory installed)

- �Place all small parts on a screwdriver 
(Ø3mm) and push them into the shock body. 
All parts will be properly aligned.

- �Placez toutes les petites pièces sur un tournevis 
(Ø3mm) et poussez-les dans le corps de l’amor-
tisseur. Toutes les pièces seront correctement 
alignées.

- �Setzen Sie alle Kleinteile auf einen Schraubendre-
her (Ø3mm) und drücken Sie sie in den Dämpfer-
körper. Alle Teile werden richtig ausgerichtet.

- �Plaats alle kleine onderdelen op een schroeven-
draaier (Ø3mm) en duw ze in de behuizing van de 
schokdemper. Alle onderdelen zullen goed uitgelijnd 
zijn.

REF TYPE POSI-
TION

THICK-
NESS LENGTH

C-00180-289  Shock Spring  SOFT  FRONT  1.4mm  L: 84-86mm

C-00180-290  Shock Spring  MEDIUM  FRONT  1.6mm  L: 84-86mm

C-00180-291  Shock Spring  HARD  FRONT  1.8mm  L: 84-86mm

C-00180-286  Shock Spring  SOFT  REAR  1.4mm  L: 95-97mm

C-00180-287  Shock Spring  MEDIUM  REAR  1.6mm  L: 95-97mm

C-00180-288  Shock Spring  HARD  REAR  1.8mm  L: 95-97mm

https://corally.com/en/product/C-00180-133/team-corally-shock-cap-aluminum-hard-anodised-2-pcs
https://corally.com/en/product/C-00180-189/team-corally-shock-bladders-silicone-4-pcs
https://corally.com/en/product/C-00180-768/team-corally-shock-piston-heavy-duty-4mm-thick-2-versions-8x12-6x14-1-set
https://corally.com/en/product/C-00180-190/team-corally-shock-washer-25x6x05mm-steel-10-pcs
https://corally.com/en/product/C-00180-192/team-corally-o-ring-silicone-162x198mm-5-pcs
https://corally.com/en/product/C-00180-136/team-corally-shock-collar-aluminum-hard-anodised-2-pcs
https://corally.com/en/product/C-00180-138/team-corally-shock-cap-lower-composite-4-pcs
https://corally.com/en/product/C-00180-029/team-corally-shock-spring-cup-composite-4-pcs
https://corally.com/en/product/C-00180-770/team-corally-hd-shock-end-short-composite-4-pcs
https://corally.com/en/product/C-00180-149/team-corally-ball-58mm-steel-4-pcs
https://corally.com/en/product/C-00180-078/team-corally-shock-body-insert-washer-composite-1-set-44pcs
https://corally.com/en/product/C-00180-188/team-corally-o-ring-silicone-4x8mm-5-pcs
https://corally.com/en/product/C-00180-191/team-corally-o-ring-silicone-9x12mm-5-pcs
https://corally.com/en/product/C-00180-166/team-corally-shock-shaft-61mm-front-steel-2-pcs
https://corally.com/en/product/C-00180-137/team-corally-shock-body-front-aluminum-hard-anodised-1-pc
https://corally.com/en/product/C-00180-291/team-corally-shock-spring-hard-buggy-rear-truggy-mt-front-18mm-84-86mm-2-pcs
https://corally.com/en/product/C-00180-164/team-corally-shock-shaft-66mm-rear-steel-2-pcs
https://corally.com/en/product/C-00180-134/team-corally-shock-body-rear-aluminum-hard-anodised-1-pc
https://corally.com/en/product/C-00180-288/team-corally-shock-spring-hard-truggy-mt-rear-18mm-95-97mm-2-pcs
https://corally.com/en/product/C-3101-25-6/team-corally-steel-nylstop-nut-m25-black-coated-10-pcs
https://corally.com/en/product/C-00180-768/team-corally-shock-piston-heavy-duty-4mm-thick-2-versions-8x12-6x14-1-set
https://corally.com/en/product/C-00180-289/team-corally-shock-spring-soft-buggy-rear-truggy-mt-front-14mm-84-86mm-2-pcs
https://corally.com/en/product/C-00180-290/team-corally-shock-spring-medium-buggy-rear-truggy-mt-front-16mm-84-86mm-2-pcs
https://corally.com/en/product/C-00180-291/team-corally-shock-spring-hard-buggy-rear-truggy-mt-front-18mm-84-86mm-2-pcs
https://corally.com/en/product/C-00180-286/team-corally-shock-spring-soft-truggy-mt-rear-14mm-95-97mm-2-pcs
https://corally.com/en/product/C-00180-287/team-corally-shock-spring-medium-truggy-mt-rear-16mm-95-97mm-2-pcs
https://corally.com/en/product/C-00180-288/team-corally-shock-spring-hard-truggy-mt-rear-18mm-95-97mm-2-pcs

